


BiEE BReiEICE 150 TH IR R AR R R 5

£ # R - Aotk ik B g7 ¥ B B & @ B
E R 23,893,100 + 715,539 24,608, 639
EEAHR 23, 893, 100
EEER 715,539
£ QIR fE 23,893,100 x 53.85% (35% = (1 — 35%) ) 12, 866, 434
BRI 24,608, 639 + 12, 866, 434 37,475,073
—REERE 37,475,073 x 53.85% ( 35% = (1 — 35% ) ) — 5,399 20,174,927
ES il 37,475,073 + 20, 174,927 57, 650, 000
HBRSELE 57,650,000 x 10.00% 5, 765, 000
EBEIH 57,650,000 + 5,765,000 63, 415, 000




BERNRE BReiEICE 150 TH IR R AR R R 5
% R BRig - Bkt B fll ® ®&@ m =
E R 24,608, 639
itE - R - AEFEB 24, 608, 639
REHEERERS 24,608, 639
BEtERE 23, 893, 100
EETE 37 386, 800
1 FHEHE .00 386, 800 386, 800
i
thek - WS 396, 300
2 ERIRE .00 109, 800 109, 800
=]
3 thfdsRE .00 109, 800 109, 800
=l
4 BARHE .00 176, 700 176, 700
=
SAERE R (C[@ 11 1= CONPASZ 15, 892, 100
5 HERFORE .00 1,254, 000 1, 254, 000
i
6 WEREOREE .00 1,359, 500 1, 359, 500
=
7 CONPASZY & .00 12, 683, 000 12, 683, 000
i
8 LR T LOEIMEEE .00 595, 600 595, 600
=
BRSO EEM - R 4,632, 600
9 HBRERAOFSIEEHN .00 1,531, 200 1,531, 200
=
10 FHERER OFHE .00 627, 000 627, 000
i




BERRE MR EZET DT IR RICATERT £
1 AEBEADRE .00 2,046, 600 2,046, 600
12 7uir— g .00 421, 800 4217, 800
REER O REE 1,079, 400
13 ABRERAORRERE L5 .00 1,079, 400 1,079, 400
RIEERIZR 1T 7-CONPAS SR iE A #t D B 18 815, 700
14 BEHHOEE .00 815,700 815, 700
Cyber Port & i 271,900
15 EENTOEE .00 271,900 271,900
AR 418, 300
16 FEBIER .00 401, 900 401, 900
17 SRR RER .00 16, 400 16, 400
EEEH 715, 539
BHEARR 234, 968
18 BHAAT .00 234,968 234, 968
T 200, 57
19 it .00 200, 571 200, 571
53 280, 000
20 XBRES .00 280, 000 280, 000




RifiFx- T/ \vr—2

WRHEICBS 500 THRRA R RER T X

51
£ BT B
% ji] 3R - Bkt B H @ ® #8 i %
HEh &
A .00 66, 900. 00 66, 900
EEHED (GRED)
A .50 58, 600. 00 87,900
HER (A)
A .50 51, 200. 00 128, 000
HEm (B)
A .50 41, 600. 00 104, 000
& &t {E%£8eH : 1.00= 386, 800. 00 386, 800
&5 :2
& BRIRE 1E%Y
£ fi] A - BT B B @ & # i %
EEHED (GRED)
A .00 58, 600. 00 58, 600
HER (A)
A .00 51, 200. 00 51, 200
& &t YEZL8eH - 1.00[E 109, 800. 00 109, 800
E5:3
B PSS 1E%Y
£ fi] A - FiR~Tik Bifs B @ & #8 i &
E{EFEm (GREH)
A .00 58, 600. 00 58, 600
HEm (A)
A .00 51, 200. 00 51, 200
5 YEZ8eH - 1.00@E 109, 800. 00 109, 800




RifiFx- T/ \vr—2

WRHEICBS 500 THRRA R RER T X

£2 4
& BERE 1Y
% 3R - Bkt B & H @ ® #8 i %
HEh &
A 1.00 66, 900. 00 66, 900
EEHED (GRED)
A 1.00 58, 600. 00 58, 600
HER (A)
A 1.00 51, 200. 00 51, 200
& &t YEZL8eH - 1.00[E 176, 700. 00 176, 700
E5:5
& SUERB DR B
£ A - BT B & B @ & # i %
EEHED (GRED)
A 6.00 58, 600. 00 351, 600
HER (A)
A 6.00 51, 200. 00 307, 200
HEm (B)
A 8.00 41, 600. 00 332, 800
HEm (C)
A 8.00 32, 800. 00 262, 400
& &t {E%£8eH : 1.00= 1, 254, 000. 00 1, 254, 000
E5:6
25 BHERE D EE 1LY
£ A - FiR~Tik By & B @ & #8 i &
E{EFEm (GREH)
A 7.50 58, 600. 00 439, 500
HEm (A)
A 7.50 51, 200. 00 384, 000
HEm (B)
A 5.00 41, 600. 00 208, 000
HEm (C)
A 10. 00 32, 800. 00 328, 000
& &t {Eaeh - 1.00=K 1, 359, 500. 00 1, 359, 500




RifiFx- T/ \vr—2

WRHEICBS 500 THRRA R RER T X

£2 .7
L5 - CONPASE{E B
% ji] 3R - Bkt B # = H @ ® #8 i %
EX T E))
A 55. 00 58, 600. 00 3,223, 000
HER (A)
A 82. 50 51, 200. 00 4,224, 000
HEm (B)
A 82. 50 41, 600. 00 3,432, 000
HEm (C)
A 55. 00 32, 800. 00 1, 804, 000
& &t {E%£8eH : 1.00= 12, 683, 000. 00 12, 683, 000
55:8
B VAT LOHEHTRTE 1%y
£ fi] A - BT BT & B @ & # i %
EX T E))
A 2.00 58, 600. 00 117, 200
HER (A)
A 4.00 51, 200. 00 204, 800
HEm (B)
A 5.00 41, 600. 00 208, 000
HEm (C)
A 2.00 32, 800. 00 65, 600
5 & YEZ8EH - 1.00=t 595, 600. 00 595, 600




RifiFx- T/ \vr—2

WRHEICBS 500 THRRA R RER T X

59
&% RBEROFSIEEH 1%y
% 3R - Bkt B # = H @ ® #8 i %
EEHED (GRED)
A 6.00 58, 600. 00 351, 600
HER (A)
A 9.00 51, 200. 00 460, 800
HEm (B)
A 6.00 41, 600. 00 249, 600
HEm (C)
A 9.00 32, 800. 00 295, 200
i 8
A 6.00 29, 000. 00 174, 000
& &t {E%£8eH : 1.00= 1, 531, 200. 00 1,531, 200
£2:10
2% HEERAOHE 1HHY
£ A - BT B H & B @ & # i %
EEHED (GRED)
A 3.00 58, 600. 00 175, 800
HER (A)
A 3.00 51, 200. 00 153, 600
HEm (B)
A 4.00 41, 600. 00 166, 400
HEm (C)
A 4.00 32, 800. 00 131, 200
5 {Eaeh - 1.00=K 627, 000. 00 627, 000
2.1
&5 REEROER B0
£ A - FiR~Tik By # & B @ & #8 i &
HEm (C)
A 12. 00 32, 800. 00 393, 600
B8
A 57.00 29, 000. 00 1, 653, 000
& & Y287 - 1.00=t 2,046, 600. 00 2, 046, 600




RifiFx- T/ \vr—2

WRHEICBS 500 THRRA R RER T X

£2 .12
W FUor—FRE B
% 3R - Bkt B H @ ® #8 i %
EEHED (GRED)
A .00 58, 600. 00 175, 800
HER (A)
A .00 51, 200. 00 153, 600
HEm (C)
A .00 32, 800. 00 98, 400
& &t {E%£8eH : 1.00= 427, 800. 00 4217, 800
£2:13
£ REEROEREEL O B
£ A - BT B B @ & # i %
EEHED (GRED)
A .00 58, 600. 00 293, 000
HER (A)
A .00 51, 200. 00 307, 200
HEm (B)
A .00 41, 600. 00 166, 400
HEm (C)
A .00 32, 800. 00 196, 800
i 8
A .00 29, 000. 00 116, 000
& § {EaeH - 1.00=X 1,079, 400. 00 1,079, 400
£2 .14
25 BUEH T EEE 1KY
£ A - FiR~Tik Bifs B @ & #8 i &
E{EFEm (GREH)
A .50 58, 600. 00 263, 700
HEm (A)
A .50 51, 200. 00 230, 400
HEm (B)
A .00 41, 600. 00 124, 800
HEm (C)
A .00 32, 800. 00 196, 800
& &t {Eaeh - 1.00=K 815, 700. 00 815, 700




RifiFx- T/ \vr—2

WRHEICBS 500 THRRA R RER T X

£2:15
& GEEREOEE 1%y
% 3R - Bkt B # = H @ ® #8 i %
EEHED (GRED)
A 1.50 58, 600. 00 87,900
HER (A)
A 1.50 51, 200. 00 76, 800
HEm (B)
A 1.00 41, 600. 00 41, 600
HEm (C)
A 2.00 32, 800. 00 65, 600
& &t {E%£8eH : 1.00= 271, 900. 00 271,900
5 :16
B RESER 1%y
£ A - BT Bifis =2 B @ & # i %
EEHED (GRED)
A 1.50 58, 600. 00 87,900
HER (A)
A 2.50 51, 200. 00 128, 000
HEm (B)
A 2.50 41, 600. 00 104, 000
HEm (C)
A 2.50 32, 800. 00 82, 000
5 & YEZ8EH - 1.00=t 401, 900. 00 401, 900
5517
25 ARAARESIER 1KY
£ A - FiR~Tik Bifis #H 2 B @ & #8 i &
HEm (C)
A 0.50 32, 800. 00 16, 400
5 Y287 - 1.00=t 16, 400. 00 16, 400




RifiFx- T/ \vr—2

WRHEICBS 500 THRRA R RER T X

55 .18
&%  BHRAR I
£ fi] G - BIkTiE Bifis B & ] & B8 i &
EEARE
N 1.00 234, 968. 00 234, 968
=) at {EX8EH : 1.00=0 234, 968. 00 234, 968
E5:19
B Rk IEED)
£ b G - BIRTE B H & B M & B i &
LEE SHEE (GEHE)
N 1.00 125, 230. 00 125, 230
LEE SEE (217 - FRHSE)
N 1.00 75, 341.00 75, 341
=) at {EX8EH : 1.00=0 200, 571. 00 200,571
®55:2
¥ EBHES IEED)
£ b G - BIRTE B H & B M & B i &
EERRSE
N 1.00 280, 000. 00 280, 000
=) M {E%8EH  1.00= 280, 000. 00 280, 000




